X &I H >CH 3% 8 R

SR 20234
WEL! SR AL | A T < T XAT B LR
WH B4 (o)
ST EFEHATHL TS AT 2

5 4 0.8

5 4 0.8

#DIV/0!

T H A5 S BR 5 BB L
RERER| I BTECR A B UL (IR, S | gyt o o o e
AT AL W AR, BN IR (g, m R . DL
ZH—IR, SEMUFATBUH RS A LIRS 55 Y AT B IR 25 R A T R 25 H
— ik ~ Sgns | ettt | scmseki | TIURCK) g | R

(C I 100 98
FSEHATE (1073 100% 80. 00% 10 8 iingi

HEfabR PRBE KT IEH 1847 2/ 2/ 10 10

R JE R bR PR B 5 LT 38 4T i R 30 30

I 2AAR b T H 58 BUN 2% 202347 | 20234E 10 10

HASERR T H 58 U A 5737G 473G 10 10

L2V G TR =L AN
e e i 10 10
MR SN &R (=L
EET T el B S K 10 10
TR LSRR EFSYEE LA IPFREA R 95% 98% 10 10

Y 1 FUE AT RG =2 EPUT Y 2 E TR A 107
2. “TRHARRR. BESFEAR . R EEARRR T 389078, bR — A Ak B G ER A g | 10 35T H

4R E AR




X &I H S H 53 H PR

-

20234F

St A

A Ll < VR X AT B LR

Al

WiH®%4 (o)

FETNEEL EEPATE AT
5 4.31 0. 862
Hrp 5 4,31 0. 862
HAh 4 | #DIV/0!
TRHA B bR SRR 58 B I
SRR AR B F N o N L o N
LRI KT 4% mdis AT, | IrFHAEE LREE T 2% Edis 1T, REIPFHAEE
— kR — gk =ik (R f A | SebRs i ?g%%% v mgﬁ“
5B 4y 100 99
TEHATZR (1043 100% 86. 20% 10 9 a2 AT
B AE 4T Y H IR A B 34 34 10 10
IR | SRR TR N IE AT th i 30 30
P B A
AR AT T H e R 20234 | 20234 10 10
A G b i H 52 A 5756 | 4317358 10 10
GV R AT
ST E IR 55
LA ﬁﬂ$ﬁf”mmﬁ i B 10 10
GTE LI -
A RS T
S A KR &
sty | IO R K 10 10
B AR
R E R bR = Fe b VA B TANT =i 95% 98% 10 10

Y 1 FUE AT R =2 EPUTHY 2 E TR A 107

2. “PEURRR. RRGIRER, WEREHTRR — 36905,

I H G H b

XoF N FRY A — A4 28 Gt B 4 1 )




B gE| S WML ERGE R AN |4 . 20234F
¥ THHLR SERE AL | AR T 4 D XATECE LR
WHE®%4 (5o
JETE R S EPATH TS AT R
S5 ; 1.5 1.39 0. 926666667
—_— 1y e g q*
Hrp: m#mxdbzgﬁﬂ"'ir 1.5 1.39 0. 926666667
HAth %% 4= #DIV/0!
T H b SE bR 5 B AR
EREkE] SN TAEBRGE G PR bR, by | PR L AEBVRES S R St
FEFH, I — RIUERE AR 2 R |P DIIRTH, Bl BRI R
B, HEERR R, Bh7) 2 AR, MR R, FEA R, B
202 kFHEWN
gk | gk T P i I Dl Ko
4 N 100 99
FHEPATER (105 100% 93% 10 9 |HEIAT
e b ERZ NG TR TAE
{&=—Ki=Eun B A LA 10 10
RIS 7 1 11 2
L e Gl Egi=¢ o AR TAE I3 it It 30 30
IR EizLS HE
I 2 dE b Tl H 5€ e 2% 2023 | 20234ER 10 10
R ATE R AN BT A 1.5J370 1.39 576 10 10
EZN i GE =Y A
TR B 3T TR AN 2
oG RrR | AR A IR HE e It 10 10
F G Ei=E N it
AR SRR
BIESES8-ATEi=y 7N FaB A urIN KM K 10 10
R LR AR R bR S NN 95% 98% 10 10

Y 1 B PUTREG =2 EPUT Y 2 FE TR A 107
2. “PrHfEbR. RERTEAR. WEETEAR T 3000, XS AL R G H AL g
il (1350 H 4755 EH br



BA3

X &I B SR A TER

R, 20234
L SEMEE o1y 9 X A B
WH %4 (Ji70)
EBEA SARPITHL TEIT %
[ 3 1. 62 0.54
3 1. 62 0.54
#DIV/0!
T H 45 SR 58 A
LR e T s B A RIS, TP T IR ) | (RO K B A IERFEAT 371K
. FERR S 81
S | R I e vl Kl IRCP LG
B 160 95
TFHAT R (105 100% 54. 00% 10 5 [4EsEsAt
sty | PROKRBRET oy 24 10 10
g | R | RREIRATRRE g f 30 30
i G bR GHseRm | 20234 | 202340 [ 10 10
FRAFE bR 2NKITKB R AIE] 3K 1. 62737 10 10
Ca BN e
e Ik R B f 10 10
Xtk )
A
RETTT U ROl S K 10 10
W AR b R AR AR TR AR B 95% 98% 10 10

Y 1 BUEHAT RG =2 PUT Y 2 ETE 107

2. “PFHTERR. REiTRbR. WEETRRR” —3L90%, K RLRE AL AR G b A g il
(1T H &5 %% B bR




X ZIH SCH 58 E PR

i H £ 5 \'74JI; a AERE 20234F
AN SCHE AL | 5L T 4 TR X AT B R
WH®4 (Jijn)
TR AL EEPITHL TEPIT
3 2.82 0. 94
3 2.82 0. 94
HAth % 4 | #DIV/0!
T H A5 SE bR 5E B L
G SN N
LRI AL R T e g%, RTHIRSSRE AT, 100%
L e e s | o g | M/ | | TR
5 N 100 99
TEHATE (109 100% 94. 00% 10 9 |¥ESEZIAT
= Fahn IS T S 50 50/ 10 10
Gk =N PRBE KT B3 RE M 5% It It 30 30
IRaEE =D
I 2R iR T H 52 B 2% 20234E | 20234EH 10 10
A FE AR AL RE I 22 FL 4 3JiTt 2.82)i 7t 10 10
ZHF R AR AR bR
N et ST S B B 10 10
T TS
HE SRR TR bR
gty | PHLICEIOTE |y K31 10 10
R R R ERr IR A 95% 98% 10 10

Y 1 FUE AT RG =2 EPUT Y 2E TR A 107
2. “PPHEAR . RAERAEAR. WRETEAR T — K907, S RLFTR — A AR G AR g i P 35
H 4% Hor.



B 44

@\%7

X &I H SCH SR H PR

T H R 20234
FF SEREAAL: | AR LT < A X AT BUE LR
B WA RS 0
B S AEHITHL AT
RN 0. 002 0. 002
Horpr: 0. 002 0. 002
#DIV/0!
T H AR S BR 58 U L

AMEBECHM L, AR SS X BRI i 55, $271 7K
JTHRS5HETT

BB, AR ESKE R FA B 2 3
55, PRI T RIT RS HES -

L B N . _ i e e | SME/E | 4 JE A
PR 100 90
FEHATE (1050 100% 0. 24% 10 0 |#EszsrAT
B fahr T N SN S e 24~ 24 10 10
R AR bR 1K T IE % 1847 e e 30 30
7= B bR -
B EETD T B 52 21 20234 20234 10 10
AR AR I i 2 3 i 45 1Jiot 2470 10 10
20 G0N
e G R L 15K )T IE #1847 i I 10 10
LVERET
ARy Gk =0
gty | T OLCEEIREEER g K3 10 10
T R AR W IR IR IR A 95% 98% 10 10

Y 1 FUE AT RG =2 PUT Y 2 E TR A 107
“PEHARPR . ERTRRR . WEEIRAR T — 38900y, XL — A B G s G R 3 E

2.

@GR H AR




